2) (—3a2b)(6ab4c.') =
130> bP



3) (7q )(12(1}_)
%L{Cf (':

4) (11c*)(-10c*d ) =
~lloc?d



5) (9x'022)(_/x5y3): _ang'\/ 352

6) (-8/°¢)(-7/"¢"h)=
Stk



7) (1.3a°6"¢*)(0.5a%bc*) = 0.15,86 ¢



9) (a"'b"'c: ) (a"b“'c' ) =

-
Q"*‘ b‘n%C/'Z.-\-’(,
Simplify each.
1. ASB247B7% 2. (-2C*D™3)’
A |2 T:ﬁ;' = LC —5
p
3. I Wt = Mgg

0



Grab a chromebook and in groups of 2-3, work
on the following practice:

Practice 8.3-8.4 Worksheet (due at the end of the hour)

Exponents:
V.4 multiplication rules

Scientific Notation:
W.1 convert between SN and Std



